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HALA/INSTRUCTIONS

1. H&H—Wmmﬁmﬁﬁlﬂhe question paper is in the form of test booklet.
2. TS TREAT AT qoiATeH TRaAT % Seck forae & farT 3rerer & 3ea) qfieaw fear s g

Separate Answer Booklet is provided for answering Objective type questions and
Descriptive type questions.

3. 9d% aE(iAse e & T th & 30F 3o g, O v @@ 3eaw g1 et R aw
fashedl & & 39T TET S FeTohd HUT Te fahed (327 : A, B, C, D ST FEY &) Seck qiecal &
Tcdeh W9 & 1A= fr@aT 81911 Each objective type question is provided with multiple answers which

includes one correct answer. Candidates have to choose the correct answer and write (A), (B), (C) or (D)
as the case may be, against the question number in the space provided in the Answer Booklet.

4. TSN aEqiase weEl & fAU veh-ua 3 1 3 qUTcHS TeAl F wdw & fAv 10 3F § AR
f&Er =aror & fAT 10 37| All objective type questions carry 1 mark each, 3 descriptive type

questions carry 10 marks each and 10 marks for Hindi Grammar.
5. ford et & Uer & 3110 Scal &1 A o9, TR A H ol Y Il ATAT AT Multiple  answers
for questions will be regarded as wrong answer.

6. T YRECTehT 3 IUcTets TUTe 3 T S o SiT Feohel 8 3R 5w Torw 3rerer & oo w181 feram SvwerT

Space available in the Question booklet can be used for rough work, if required and no separate sheet
will be provided.

7. GBI o d1E (1) TAU-TF IS & 1Y A (2) Secl IiFast faders s dfa )

At the end of the test (1) Admit Card with photograph and (2) Answer Booklet shall be returned to the
Invigilator.



HTIT/PART - A

WAY 330/ General English
Fill up the blank space by selecting the suitable preposition among the alternatives given below:

1. These days everybody complains ________high prices of commodities.

a) at b) of ) with d) about
2. There should be love and tolerance people of various religions.

a) about b) among c) between d) for

Choose the word which is closest in meaning to the underlined word:

3. She has been working here for a decade.

a) 1 month b) 1year c) 5years d) 10 years

4. Good leaders are usually good orators.

a) Listeners b) thinkers c) speakers d) fighters
5. Dr. Vikram Sarabhai was the pioneer of Indian Space Programme.
a) Lawyer b) founder c) planner d) designer

Select the antonyms of the words given below:

6. GATHER

a) Disperse b) Distract c) Dispute d) Display
7. STUPID

a) Majestic b) Intelligent c) bold d) Angry

Select the most appropriate meaning of the given idioms:

8. Smellarat
a) To reveal secrets b) To suspect that something is wrong
c) Talking nonsense d) To get momentum in a job

9. Butterflies in the stomach
a) Beingangry b) Being hungry

c) Being excited | d) Being nervous
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Select the one word which can be substituted for the following:

10. A number of stars grouped together.

a) Com.et b) Orbit c) Solar System d) Constellation

11. Animals that eat flesh

a) Omnivorous b) Carnivorous c) Herbivorous d) Insectivorous

12. Fit to be eaten

a) audible b) credible c) edible d) legible

Find the wrongly spelt word in each question below:

13. a) Continous b) Sufficient c) testimony d) Competition
14. a) Procedure b) Inadequate c) Beginer d) Constitution
15. a) Misellaneous b) Expenditure c) Audit Query d) Significant
16. a) Unanimously b) Vacant c) Substitute d) Satalite

17. a) Guarantee b) Appreciation c) Envirnment d) Endorsement

Read the paragraph carefully and choose the best answer to each out of the alternatives

The oil industry was born in the United States around the time of the Civil War. As the world’s
largest oil producer and exporter, the US supplied the oil on which the Allied Forces floated to
victory in World War 1. In 1920, 64% of the world’s oil was produced in the US. The growing uses of
petroleum in modern American industrial society led several domestic companies to secure oil
concessions in Mexico but foreign production was not actively sought after the First World War.

18. Which year 64% of the world’s oil was produced in the US?
a. 1919 b. 1917 c. 1915 d. 1920

19. Asthe world’s largest oil producer and exporter supplied oil to the allied forces.
a. Irag b. Saudi Arabia c.lran d. The US

20. According to the passage, the oil industry was born in the US around?

a. World War | b. World War Il ¢. Civil War d. None of these
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HTIT/PART - B
AT A T difdhes 8THdT/General Knowledge & Reasoning Ability

f&&r " & AT FTAT #/When is Hindi Day celebrated?

a) 10 /S=iail/lanuary b) 14 RATER/September
c¢) 5 fAds/September d) 8 ATE/March

ay 2019 & AFUS REHR  fehetent f&ar I™T §/Who has been awarded Gyanpeeth
Puraskar for the year 20197

a) gﬁﬂ' A IA/Suberi Kanand Rao

b) f@HeET 3fIrarel/Himakansa Agrawal

c) fFhcaH g Fiﬁ‘j?lﬂ'/Akkitham Achuthan Namboothiri
d) @ ddl/leevan Sethi

ARG & FARRed NI ARaE & v wfa 3 rpems & a9
FAT  §/What is the name of Half Humanoid developed for the Unmanned GAGANYAAN
mission of India?

a) afifaeh/NaviC b) 8]a</Bhuvan
¢) SAATAFA Vyommithra d) 31H & HIS Fgi/None of these

ffaf@a@ A7 @ e & H&EfSd Hla-Ar &2 /Which among the following is related to
AIDS?
a) HIV b) GIF c)SIT d) ABO

GG ICE R Hed H qﬁ’ e aTelT R HiA-AT &2 / Which of the following tax does

increase the price?

a) AT {]Fm"/lmport duty b) 3T &Y/ Income tax
c) ?'-!;?TI'IOCtroi d) feshr #3/sale tax

fFrfaf@a # ¥ afdal & e 9fg ssm@Rva SlF-ar &2 / Which of the following

Sanctuary is well known for elephants?

a) FlegT/Kanha b) M/Gir  ¢) ANAR/Periyar  d) FITAL/Kaziranga
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“DUCK” U - #gagaﬂ% / The term “DUCK” is associated with -----
a) FieFa/Soccer b) MH/Golf c)areir E‘hNolley ball  d) fSFehe/Cricket

“CQATH” ATHS T 1 fahdst foI@T §/Who wrote the book “The Life”?

a) HeATT ¥2E1/Sulman Rushdi b) 3T IF/Arundhathi Roy
c) fasa &3/Vikram Seth d) 1 @s1/shiv Kheda

fArfafea § @ gdrss faegeReh e &/Which of the following is the best

insulator?

a) FYST/Cloth b) @&aI/Wood c) HTITST/Paper d) 7ETH/Glass

mmﬁmmmﬂmmﬁ«mm
Mes STerelr” REFR q GFAT Far aw=m &y Which Actor has been honoured

with “Icon of Golden Jubilee” award at 50" International Film Festival of India?

a) fAATT F=T=T/Amitabh Bachchan b) 3Hfe¥eT &HY/Anil Kapoor

c) ISAT Sid/Rajani Kant d) =¥ FY/Rishi Kapoor
few arv faeheqt HO AT e, EFT?I;#/ Find out the odd word from the given alternatives:
a) Swimming b) Sailing c) Driving d) Diving

feware fGweui A& SHeT UL T ei/ Find out the odd letter from the given alternatives
a) PQXZ b) CQBN c).ABDF d) PRMN

qaaﬁma:wmwﬂa-#rmm/wnat number will come at the place of
question mark? 6, 11, 21, 36, 56,?

a)91 b) 51 c)81 d) 42

msﬂ':,’ra?rqmaw‘?, E’fmmﬁﬁﬁﬁ‘la%ﬁind out the pair which is differently related
a) Camels-Roar b) Dogs - Bark c) Birds — Chirp d) Horse —Neigh

wnﬁmwﬂﬁmﬁﬁ#aﬂé%aﬁ%mﬁwm%i Afger T

AT Fr Far Rear g/ A woman introduces a man as the son of the brother of her
mother. How is the man related to the woman?

a) HcATST/Nephew  b) TQqlson  c¢) TRT HS/Cousin d) 9d/Grandson
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$TT9T/PART - C
3 IO/ Arithmetic

afaf@a & AT T&IT cX & IUET HIF-TT &/ Which of the following is equivalent

to Roman Number CX

a) 90 b) 110 ¢) 200 d) 120
9 T egchA FAT §lwhat is the reciprocal of 9?
a) 1 b) 1/9 c) -9 d)o

x @ 20% =90, x # FeA e § / 20% of x = 90, find the value of x

a) 350 b) 450 ¢) 550 d)3TH ¥ FE &I/ None of these
3O 5x+48 = x+p = 4x+9 © I p T Hed Rl &I 5x+8 = x*+p = 4x+9, What is the value of p?
a) 18 b) 19 ¢) 12 d) '&'ﬂﬁ a Eﬁlé FT'Eﬁ'/ None of these

12,15,20 T UTA.ELUA. / LCM of 12, 15, 20

a) 12 b) 15 c) 60 d) 20
300 T 15% / 15% of 300 ?

a) 20 b) 45 c) 40 d) 30
Vo +UX%=

a) 3/8 b) 13/8 c) 11/16 d) %

Aol & 3eTell F&AT HIF-AY & / Find the next number in the series 4, 8,16,32,
a) 40 b) 46 c) 64 d) 48

7 Rwai & v B F 3 @ 3a 75 8, fAas A oizaw 6 Awat F 3ud 3w @ e
72 &1 faAe # 38 fRae 3% A / The average of marks of a student in 7 subjects is 75
His average in 6 subjects excluding Science is 72. How many marks did he get in Science?

r

a) 72 b) 90 c) 93 d) 75
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If P:Q = 8:15 and Q:R = 3:2, then find P:Q:R ?
a) 8:15:7 b) 7:15:8 c) 8:15:10 d) 10:15:8

gﬁraﬂrmaﬁgﬁmuo . g1 uﬁmﬁrmgwﬁso Far. 30w & ar
W 3R QA & aF@l F WU T4 & / The total weight of Suresh and Sanjay is 120Kg. If

Sanjay weighs 30Kg more than Suresh, what is the ratio of the weights of Suresh to that of

Sanjay?
a) 04 b) 0.6 c) 0.3 d) 0.25

el =afda & afds s 5 5000 8 e o I A 30% IR §F ¥ A 3w R
AIRA® AT R & / The monthly income of a person is Rs.5000. If his income is increased
by 30%, What is his monthly income now?

a) Rs. 7000 b) Rs. 5500 c) Rs. 4500 d) Rs. 6500

A 8 AEl G T 1500 W WURY SO F T F €30 S o ¥ oA 9y a¥ @ ex
gfARreT 4T B /if the simple interest on RS. 1500 increases by Rs. 30, when the time increases
by 8 year. The rate per cent per annum is

a) 0.5% b) 0.25% c) 0.75% d}1.25 %

UF e A WEfhar § 90 Bee # 12 A g aw #n 3R a7 wEm o @
SRR T A 3 gl F Rraelr g G HT / A man covered a distance of 12 km in 90
minutes by cycle, How much distance will he cover in 3 hrs, if he rides the cycle at a uniform
speed?

a) 36km b) 24 km c) 30 km d) 27 km

6 WA, U&7 AT F (FHI) FT BT R & / I the Side of 3 Square is 6cm, area of the
same is

a) 18 cm? b) 36 cm? c) 24 cm? d) 46 cm?
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HT1eT/Part D
W?ﬂﬂlmmputer Literacy

$SRUT 3537 & faw zgtrﬁm T ST HSCH ... FEAd &1 Data items grouped together

for storage purpose are called...

a) RehlE/Record b) CISCel/Title
c) foree/List d) F&gat/string

HTEBT?F[ aur sy ﬁgﬁ?m FT FF HlT FAT §? What performs modulations and
demodulation?

a) B3R 3fTfCeeh/Fiber Optic b) TTEHIE/Satellite
c) PTTFGI hael/Coaxial cable d) ATSH/Modem

Teh gledele] il 818 el olodsl & fod W & Igaht 39 #eie ofedst &g & aRafda
FATR?

A translator that reads programmes written in a high level language and converts them
into machine language code is

a) f¥eH ATFedAT/System Software b) SFUTSER/Compiler
c) TR fEar ﬁ'IR'JT/Operating System d) sﬁ'ﬁ@ Eﬁ’léa‘-lﬁ/None of these

amﬁammﬁﬁvmmaﬁrmmﬁ What is required to communicate

between two computers?

a) m‘jﬁawm {IFEATI/Communication Software

b) FFY A2 §TSAAT/Communication Hardware
c) Wereiel/Protocol
d) Tg FHI/All of these

ST U Y F3Y H{SROT §HTS Hi=T TTE? Which one is the biggest storage unit?

a) THEI/MB b) &/T8B c) f9e/Bit d) §13¢/Byte
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HTRFET River Aitred TR gart & Teket 1 fham a1ar e BRI ........ FEeTT &1

A Sub division of main storage created by Operating System Software is called

a) FUTEHE/Compartment b)eTE# TS WH/Time-shared program
c) ITféRr=A/Partition d) 3388 #/Divided core

ST HeROT TN AT &t o forw fonar IR 1 39Yer fFar S & ? What parameter

is used to measure data transfer speed?-

a) dpi

b) bps_
c) ppm
d) GHz

RAM &7 & / What is RAM?

a) Read Automatic Memory
b) Random Access Memory
c) Random Allowable Memory
d) Random Acquired Memory

mﬁﬁmﬁagrm\aaﬂm Name of Supercomputer developed in India

a) YcgV/Pratyush b) fATRT/Mihir
c) (a) 3R (b) E=1/Both(a) & (b) d) 377H § FIS AEI/None of these

xlsx TSR BIZET TFHACU § xlsx is the file extension of

a) a8/Word

b) 9TaR YISE/Power Point

c) TFH/ Excel

d) Eﬂﬁﬁaﬂéﬂﬁmone of these
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AT /Part E
mmﬂlnescriptive Type Questions

farafaf@a & 3 fonedt uves v a3 sererer 25 arart &1 ves e fard | (1037=)
(i) FEmoT AR T (i) §AR SR IR Fcled (iii) FATST IR Aol AT 1 we7ra

JTIEhT Tt 7 JTRHAR FEIE ASE IT A F1 AL X T A7 7T &Y 10 & Forad arferay

A HRT YT ¢ | Faegd e =t gwa o mﬁam&a@@rmaﬂﬁgww

IGICL! (1037)
3ryar

AIRYTToIehT o HETIIR Sl 2TET & FHA [T TUITr &Y 31 FeTH a1e) ST 3T Thar 7
FROT Tl G $HF [T 3 TS HT I 9l §U 0 7 fored|

fArfai@d sreamer w1 ar fod va 3T ol sh & (1037=)
HIA TG W AR 1 I T 39T §| ARTTAR (F safd F doved 3R 997 78 a8
A eafFd & FAA ¢ W%mmmﬁaﬂ,mméﬁﬁﬂwwﬁ
TG ©| I AN FHed & 3 A AfFd & R g, v, i AR camperar weh
eelr &, Forerh sRoT S Shamaeh sferIfier i 3rdenie & s )

ST 3R 391 A, 991 3R 3 W HIH @ T & Y 98 &% uRITARY 7 grovem 3w
THAT 1 Afhed 3R T8 Icdst=lr & Fo7ra 3 317 ST § A 310 s 3k Rufy v aik
I ST TS FI A &1 3/ T & 81T H I gl el 81 Ry aRewferai &
Y TIH AT T Scciotell F o0 ST TIMH $7 HH @l &1 IR W9 qa8)
AT F for e A 1S o S HE W o AT A AT W@ wHaAr 1 gq@a
AT Tg & (% afe FIE F5d a0 ek aF 378 /A ITGA W &A1 TRT| 37 a@
FH I T 3TER AT Y STeT Hehol ST 64 e, 1 wemfaa @y &1 I g avoemr wow
HTAH T Al HVHR T e 81 I &Y ST | F3el a1t Fged ATl 7 af Fohre, &1 gt
I SH T 3R el 7 el ot 31e18 & R s gl &1 W A ST sm R
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YA &1 UohATT Shard & | FIH safad 7 89 3R seAfAz=or Hr arwd @ ¥ sdr wRor
¥ J are-gfaare I1 FrETsT 3nfe AL FRA| U ATHATIHT T HEY HeAiheT fpaT ST 3R
YT St T HET & ST T ST &Y 8% o8 T G AT A Y A1 &1 =5
1 a1G faare A 3o W Sfaet 7 & Sehrac Yer e I T ar g1 ey & oft eryar
el IGAT AET| FHIH, I, IJEHR HTE F &Y WEH T (a1 9o ol FTHU & 1

fArafaf@a arrat @ g A (237%)
(i) forelt oY o15 ST Tg T & TS
(if) FFTH TG 1 WS 61 81 HeherT|
fAFfarfe serad/Herert & wer e for: (237%)

(i) ST Y SR S
(i) 37T <11t 3175 7T g
fArAfa@d eree aog & fov v ereg ford: (237%)

(i) A Srelarer

(ii) g A= e T g
(iii) GTSE T 3T

(iv) ST 1T & ITHA FAGTAT

fF=faf@a el & fAadards (faes) ereg o (231)

(i) GeroT
(ii) & e
(iii) FHATSE
(iv) 2SR

fafaf@a syt & o faf@w: (231%)
(i) ot

(ii) ot

(iif) T

(iv) WTeera

3k ok ok ok sk ok ok ok ok ok ok Rk K



